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There are 25 different exercises on this exam. Make sure that this copy of the exam is
complete and write your matriculation number and your name into the appropriate fields on
top of this page. Work on all 25 questions. Do not mark more than one possible answer
otherwise it is considered false. For every correct answer you obtain two points. For every
Jalse answer one point is subtracted. If no answer is marked You neither obtain nor loose a
point. In order to pass this exam you need at least 25 points.

1. A good indicator for the productive activities within a country is

a)
b)

©)

nominal GDP.
the consumer price index (CPD).
real GDP.

2. If the nominal interest rate is 5% and the rate of inflation equals 2% then the real interest

rate is

a)
b)

c)

7%.
3%.
10%.

3. If the nominal interest rate falls then asset prices

a)
b)

c)

rise.
remain constant.
decline.

4. In the Malthusian growth model

a)
b)

[ 1o

the equilibrium occurs when output per worker equals the subsistence level.
the population grows as long as output per worker is smaller than the subsistence
level.

the population declines as long as output per worker is greater than the subsistence
level.



5. According to the neoclassical growth model a country with a high saving rate has in
equilibrium (steady state)

a) alower per capita income than
b)  a higher per capita income than
c) the same per capita income as
a country with a low saving rate.

6. If one abstracts from transactions in services, investment income and from unilateral
transfers, a country that imports more goods than it exports

a) has a positive trade balance.
b) s called a net creditor in the world financial market.
) is called a net debtor in the world financial market.

7. Ifthe price of a bundle of tradable goods is $10 in America while €20 in Europe, then at
the current exchange rate of 2$/€ the

a)  euro is undervalued compared to its long-run value implied by PPP-theory.
b) eurois overvalued compared to its long-run value implied by PPP-theory.
c)  value of the euro corresponds to its long-run value implied by PPP-theory.

8. According to PPP-theory, a country with a flexible exchange rate that faces an increase in
its price level relative to the rest of the world will see its cufrrency

a) depreciating.
b)  appreciating.
c)  remaining at the politically desired level.

9. The Bretton Woods system established a

a)  system of fixed exchange rates.
b)  system of flexible exchange rates.
c)  system of fixed but adjustable exchange rates.

10. In a system of fixed exchange rates the central bank must _

a)  abstain from any intervention in the foreign exchange market.
b)  buy foreign currency if there is excess supply of domestic currency.
¢)  buy foreign currency if there is excess supply of foreign currency.

11. The open economy multiplier is

a)  smaller than the closed economy multiplier.
b)  greater than the closed economy multiplier.
¢)  aslarge as the closed economy multiplier.




12.

Under a fixed exchange-rate system and perfect capital mobility

a)  monetary policy is ineffective in raising domestic income.

b)  monetary policy is highly effective in raising domestic income.

c) fiscal policy is ineffective in raising domestic income.

13.

Under a system of flexible exchange rates and perfect capital mobility monetary
tightening at home leads to

a)  anincrease of the foreign exchange reserves of the central bank.

b)  adecrease of the foreign exchange reserves of the central bank.

¢)  an appreciation of the domestic currency.

14.

The difference between national saving and investment in an open economy equals

a) total output.

b) net exports.

¢) the government budget deficit.

15

- In a small open economy at full employment and with perfect capital mobility, an increase

in government expenditures

a) reduces net exports.

b) increases net foreign investment.

c) raises the domestic interest rate

16.

In a high-risk country (i.e., a country with high inflation, corruption and unstable political
conditions)

a)  the interest rate is lower than the world interest rate.

b)  the level of investment is greater than that in a low-risk country.

¢) investors will demand a risk-premium over the world interest rate.

17.

A relatively flat aggregate supply curve corresponds

a)  to the short-run behavior of the economy.

b) to the classical approach to aggregate supply.

c) to the long-run behavior of the economy.

18.

A vertical aggregate supply curve describes

a)  ashort-run model.

b)  amodel with sticky prices.

c) the classical approach to aggregate supply.




19. A person who has a job but is currently too ill to work is classified as

a)  being unemployed.
b) being employed.
c) being not in the labor force.

20. The unemployment rate is

a)  the number of unemployed people divided by the labor force.
b)  the labor force minus the number of employed people.
c)  the number of unemployed people relative to the number of employed people.

21. Frictional unemployment occurs

a)  when due to a recession the overall demand for labor is low.
b)  when the demand for labor in certain sectors of the economy is low.
¢)  because of the incessant movement of people between regions and jobs.

22. The short-run Phillips curve shows a trade-off between

a) inflation and money growth.
b) inflation and total output.
c) inflation and unemployment.

23. The long-run Phillips curve

a) is vertical.
b) s horizontal.
c) slopes upward.

24. The NAIRU is that unemployment rate consistent

a)  with a declining inflation rate.
b)  with a constant inflation rate.
c) only with a zero inflation rate.

25. In an economy with flexible wages

a)  there is no voluntary unemployment.
b) there is no involuntary unemployment.
c)  the number of unemployed people always equals the number of employed people.
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